101 SREFES | BN SEURBNESETR

R SCEERE HoAth 7 7 100% 4.36
ERE S A = 3 36 36 100% 4.17
R HHE SO 21 W5EFT 32 38 84.21% 443
B RSB 2 AEEE 34 34 100% 4.19
R HNBIEE SCEE 21 EA-f 65 65 100% 4.28
ERE HNBIRE S A 5T 7 8 87.50% 431
R HNBIEE SCEE 21 AEEE 41 41 100% 4.34
EE L FESREE 21 BT 34 34 100% 4.09
R FESEE 21 W5EFT 8 25 32% 4.86
R FESREE 21 AEEE 14 14 100% 4.23
R [ RS T W5EFT 12 15 80% 4.05
ERE BB TR | %R 11 14|  78.57% 4.72
R FEE HUL HAr 66 63| 97.06% 426
B HaEt 2491 297|299 99.3 4.2
X 4as e 70 100 70 4.5
B  |EHER HoA 21 21 100% 4.02
EHEN \MHEERE A B4t 9 9 100% 4.19
EHER | MEERE A WH7EFT 14 19| 73.68% 4.88
EHER  |hEEHEAL 21T 20 20 100% 4.02
EHE | EEEE L WH7EFT 24 26 92.31% 4.44
EHEN BB e 3 21 14.29% i
EHELE SR LR WH7EFT 36 45 80% 4.46
EHEHER |"EEEA e e i 12 12 100% 4.09
EHER |G A WH7EFT 13 14| 92.86% 4.51
EHER | ENEEEA 1T 19 19 100% 4.01
EHER | ANEHEA WH7EFT 9 14| 64.29% 3.75
EHEHER  |THEA 1T 16 16 100% 4.03
EHELR  |THEA WHFERT 12 14| 85.71% 4.27
EHER | EEHEA AEEED 22 22 100% 4.11
EHER | EZS{EREEEAT 5T 9 10 90% 3.75
B |48 E+-f 119, 119 100 4
EHEE  |4EET T 1200 163 73.6 4.4
=& pex Lol e VA7 = e i 12 12 100% 4.07
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=& EVIRH R L AR e A 7 7 100% 4.04
=3 -{s EpE R R 22T = 3 10 10 100% 3.81
= ST L RE e R ERAR WFERT 8 9 88.89% 4.71
=3 -{s B 2= T = VA= T 5 7 71.43% 4.48
= R Z, 21T 25 25 100% 4.04
=3 R 2, WFERT 12 26| 46.15% 4.62
A& [ 2 21T 30 31| 96.77% 4.08
& (A 2 WHFERT 24 43| 55.81% 4.5
A& FRIREE 21 e S i 38 39| 97.44% 4.03
=3 {s ARREE 21 5T 28 37 75.68% 4.34
A& JE FERER 1 e S i 20 22| 90.91% 3.97
=3 {s JHEE P AR 2 2 5T 13 24| 54.17% 4.36
=& YIRS 21 e S i 20 20 100% 4.22
=3 {s TR £ 5T 26 28] 92.86% 4.37
A& Fean: 2 21T 16 17, 94.12% 4.18
=3 {s Foin e 2 5T 11 22 50% =2
=3 VIR 2 EA-f 26 271 96.30% 3.84
=3 -{s YRR 2 e FT 33 47 70.21% 4.32
=& T RGN A e i 43 44 97.73% 4.1
=3 -{s TIEERIERE A T 25 36| 69.44% 4.28
=3 EVIEERETIRE A EA-f 32 32 100% 3.94
=3 -{s EVIEERETIRE A T 19 24| 79.17% 4.29
=& VIR TR WFERT 9 540 16.67% 4.26
=3 {s K PRFFEE £ = 3 32 32 100% 3.83
=& KERFFE A WSERT 37 45| 82.22% 4.62
=3 {s BEmBERAEYRE A = 3 32 33 96.97% 3.95
A& B EE YR 2 WSERT 59 70/ 84.29% 445
=3 -{s AW rE B TR ST T bH7EFT 12 13| 92.31% 4.61
=& AVEFREHETEAEE | EEH 20 20 100% 4.1
=3 -{s P S b OB TR ARG EETT | BFZRRR 7 8 87.50% 45
BE&T HaE E+-f 363 371 97.8 4
=3 -{s HEEt 5T 328 493 66.5 4.4
e oRELERITRT e 7 9 77.78% 4.02
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HERfE GET eI T W5EFT 1 2 50% 52
HEERT (R=—5 130t 69 69 100% 4.1
HERfE B2 A W5EFT 24 53| 45.28% 4.46
HEERT FEFH#EE % = 3 54 54 100% 4.08
HERfE JEFHEEE 21 W5EFT 27 31 87.10% 4.38
HEE b YIEEEE £ 13t 61 62|  98.39% 4.04
HHEE T YIHEES 2 W5EFT 18 30 60% 4.22
HEERT BRI 2 E TR A 130t 27 27 100% 3.99
HERfE HARI TS L W5EFT 33 37 89.19% 431
HEER HEEt 2491 211 212 99.5 4.1
AR 4as e 110, 162 67.9 4.3
TERR TEE HoAthr 1 1 100% )
TER B KSR ELAGERSE | 2451 4 9| 44.44% i
TR P TR A BT 47 47 100% 4.01
TEE PR TAEEE % W5 FT 29 33| 87.88% 4.26
TERR FARTEEZL EA-f 41 41 100% 4
TER TARTEEZ e 45 59| 76.27% 4.39
TE IR TR A EA-3f 21 22| 95.45% 3.97
TEk R TEE 4 W5 FT 14 21| 51.85% 445
TE2f5 B TIZE A EA-3f 54 54 100% 4.08
TER BT IEE 4 e 46 67  68.66% 4.37
TE (B THEEE A 43t 18 18 100% 3.95
TEEpE {EEETHEEE % e 23 28| 82.14% 4.03
TE e MRRHREREL T AR EE 2 EA-3f 22 22 100% 4.05
TE PR 28 TR 22 £ WSERT 23 26| 88.46% 4.32
TE VEH TAERSURT s 12 21| 44.44% 4.07
TERR 4B TAZIRSTRT e 16 16 100% 4.46
TERR AR TAZW SR P s 5 6] 83.33% )
TEEpE KB TAEWTFEFT e 9 11| 81.82% 4.15
TE HEEt 2491 208] 214 97.2 4
TEEpE 4as e 222|300 74 43
BB |BIEEUEHTIERT s 16 19| 84.21% 4.71
EEEERE |VAERE A e i 38 38 100% 4.22
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EEEERE VAR A WSERT 35 39| 89.74% 4.54
BB | RETEER BT 5T 15 16| 93.75% 4.54
EEEERE |BIRBERELAILEETCRT | WESERT 14 16|  87.50% 4.49
SEEEERE |4EET 2491 38 38 100 4.2
AR |4 e 80 90 88.9 4.6
AR APt HoAth 1 1 100% 3.97
R RS Y& IR | W5EFT 15 16| 93.75% 4.22
AR AaaEE 2 EA-3f 49 50 98% 421
AR ARt 2 e 53 90 67.09% 4.2
AR YRR s 37 411 90.24% 4.15
AR AV EERRHSTRT e 21 23| 91.30% 4.27
AR LY ERITRT s 27 46| 58.70% 4.29
AR 4as B3t 50 51 08 4.2
R HEEt 5T 153|205 74.6 4.2
BEZR | BEEA 1T 57 60 95% 4.22
Bl (BEEA s 38 63|  55.88% 4.37
BRESEELE  |MAEMB AL | TRYERT 27 33 81.82% 4.61
BREE R BRI s 29 36| 80.56% )
BRI  |4H3 B3t 57 60 95 4.2
BREEEEfr (4Gt ez 04/ 137 68.6 4.5
BN 4HA T RRSLE R B e A | BFSRR 2 3 67% 52
el AR R RS S - B EEAR | B SR 0 1 0.00% =2
BN YALRIEEEE LB 2R | EEE 9 9 100% 4.22

FEREE L HoAth 20 24 83.33% 4.03

B EHR HoAh 53 54/ 98.15% 3.68

R = =il 88 88 100% 4.11

BE=E HoAh 28 28 100% 4.28

AL HoAth 233 235 99.15% 4.08

LEERIGEEEZ LI AEEED 42 42 100% 4.25
EXEED EA-9f 1816 1844 98.5 4.1
EREE W5EFT 1179 1654 71.3 43
EX e SEEHIHEET 2995 3498 85.6 4.1
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fsk
L RgEtRimBSEER 2 RaT  BERABETA (&) DUNSEHE NBREN 2 —& » AYIAS
2R BN FrBa B H R B TR AR -
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